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NUMBERS AND SEQUENCES

Exercise 2 1

1. Find all positive integers which when divided by 3 leaves

remainder 2.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_dpLddup66ieX


2. A man has 532 flower pots. He wants to arrange them the

rows such that each row contains 21 flowers pots. Find the

number of completed rows and how many flower pots are left

over.

Watch Video Solution

3. Prove that the product of two consecutive positive integers is

divisible by 2.

Watch Video Solution

4. When the positive integers be a, b and c divided by 13, the

respective remainders are 9, 7 and 10. Show that  is

divided by 13.

a + b + c

https://dl.doubtnut.com/l/_m061VbvBTSC6
https://dl.doubtnut.com/l/_uW6x8tfupa8X
https://dl.doubtnut.com/l/_6asZsE4XVzRl


Watch Video Solution

5. Prove that the square of any integer leaves the remainder

either 0 or 1 when divided by 4.

Watch Video Solution

6. Use Euclid Division Algorithm to find the Highest Common

Factor (H.C.F) of 

340 and 412

Watch Video Solution

7. Use Euclid Division Algorithm to find the Highest Common

Factor (H.C.F) of 

867 and 255

https://dl.doubtnut.com/l/_6asZsE4XVzRl
https://dl.doubtnut.com/l/_cOKtAZ2uISRX
https://dl.doubtnut.com/l/_lkGTDVIxLpWi
https://dl.doubtnut.com/l/_DGWxCNBFIgeF


Watch Video Solution

8. Use Euclid Division Algorithm to find the Highest Common

Factor (H.C.F) of 

10224 and 9648

Watch Video Solution

9. Use Euclid Division Algorithm to find the Highest Common

Factor (H.C.F) of 

84, 90 and 120

Watch Video Solution

https://dl.doubtnut.com/l/_DGWxCNBFIgeF
https://dl.doubtnut.com/l/_lsvKJGYgsb5c
https://dl.doubtnut.com/l/_axJNF0JVFNsE


10. Find th largest number which divides 1230 and 1926 leaving

remainder 12 in each case.

Watch Video Solution

11. If d is the Highest Common Factor of 32 and 60, find x and y

satisfying .

Watch Video Solution

d = 32x + 60y

12. A positive integer when divided by 88 gives the remainder 61.

What will be the remainder when the same number is divided by

11?

Watch Video Solution

https://dl.doubtnut.com/l/_9bhqev7erWHi
https://dl.doubtnut.com/l/_rz3qmaFctBLH
https://dl.doubtnut.com/l/_n1R8XjgmZC5K
https://dl.doubtnut.com/l/_VUbA3glalktN


Exercise 2 2

13. Prove that two consecutive positive integers are always

coprime.

Watch Video Solution

1. For what values of natural number n,  can end with the digit

6?

Watch Video Solution

4n

2. If m, n are natural numbers, for what values of m, does

 ends in 5?

Watch Video Solution

2n × 5m

https://dl.doubtnut.com/l/_VUbA3glalktN
https://dl.doubtnut.com/l/_kmlBwksyja9K
https://dl.doubtnut.com/l/_1Ee0IIVrRMZV


3. Find the H.C.F of 252525 and 363636.

Watch Video Solution

4. If  then find a and b.

Watch Video Solution

13824 = 2a × 3b

5. If  where  are

primes in ascending order and  are integers, find

the value of .

Watch Video Solution

p
x1
1 × p

x2
2 × p

x3
3 × p

x4

4 = 11340 p1, p2, p3, p4

x1, x2, x3, x4

p1, p2, p3, p4 and x1, x2, x3, x4

https://dl.doubtnut.com/l/_1Ee0IIVrRMZV
https://dl.doubtnut.com/l/_zLvjdj44Su7s
https://dl.doubtnut.com/l/_qV0wY2zAqjLv
https://dl.doubtnut.com/l/_8eSfFuq8wdq7


6. Find the L.C.M. and H.C.F. of 408 and 170 by applying the

fundamental theoram of arithmetic.

Watch Video Solution

7. Find the greatest number consisting of 6 digits which is

exactly divisible by 24, 15, 36?

Watch Video Solution

8. What is the smallest number that when divided by three

numbers such as 35, 56 and 51 leaves remainder 7 in each case?

Watch Video Solution

https://dl.doubtnut.com/l/_q2g8CyM1lf73
https://dl.doubtnut.com/l/_BuXCqbV7zyAd
https://dl.doubtnut.com/l/_XyBd9tkONsZM


Exercise 2 3

9. Find the least number that is divisible by the first ten natural

numbers.

Watch Video Solution

1. Find the least positive value of x such that 

(mod 8)`

Watch Video Solution

71 = x

2. Find the least positive value of x such that 

(mod 5)

Watch Video Solution

78 + x = 3

https://dl.doubtnut.com/l/_nLxY12tPnPDO
https://dl.doubtnut.com/l/_AZkXWJzjZ2AO
https://dl.doubtnut.com/l/_GgGBrdQYwgxe


3. Find the least positive value of x such that 

 (mod 4)

Watch Video Solution

89 ≡ (x + 3)

4. Find the least positive value of x such that 

(mod 5)

Watch Video Solution

96 =
x

7

5. Find the least positive value of x such that 

 (mod 6)

Watch Video Solution

5x = 4

https://dl.doubtnut.com/l/_GgGBrdQYwgxe
https://dl.doubtnut.com/l/_zwiBJXKUmGr4
https://dl.doubtnut.com/l/_tDUGsO2abkUP
https://dl.doubtnut.com/l/_J9gy0KYBHLUa
https://dl.doubtnut.com/l/_JJfDSVl86jw7


6. If x s congruent to 13 modulo 17 then  is congruent to

which number modulo 17?

Watch Video Solution

7x − 3

7. Solve  (mod 6)

Watch Video Solution

5x = 4

8. Solve  (mod 11)

Watch Video Solution

3x − 2 = 0

9. What is the time 100 hours after 7 a.m.?

Watch Video Solution

https://dl.doubtnut.com/l/_JJfDSVl86jw7
https://dl.doubtnut.com/l/_Y1keCzOFImCI
https://dl.doubtnut.com/l/_WTkus5HOrNOR
https://dl.doubtnut.com/l/_EcJsbif7KAdA


10. What is the time 15 hours before 11 p.m.?

Watch Video Solution

11. Today is Tuesday. My uncle will come after 45 days. In which

day my uncle will be coming?

Watch Video Solution

12. Prove the  is always divisible by 7 for any positive

integer n.

Watch Video Solution

2n + 6 × 9n

https://dl.doubtnut.com/l/_EcJsbif7KAdA
https://dl.doubtnut.com/l/_EZOlVTax0HTo
https://dl.doubtnut.com/l/_odgq4hhqQ0OU
https://dl.doubtnut.com/l/_FdREqJOlw1sx


Exercise 2 4

13. Find the remainder when  is divided by 17.

Watch Video Solution

281

14. The duration of flight travel from Chennai to London

through British Airlines is approximately 11 hours. The airplanes

begin its journey on Sunday at 23:30 hours. If the time at

Chennai is four and half hours ahead to that of London's time,

then find the time at London,when will the flight lands at

London Airport.

Watch Video Solution

https://dl.doubtnut.com/l/_5dQmCIMRorqA
https://dl.doubtnut.com/l/_uIqnFpD0nSvH


1. Find the next terms of the following sequence. 

8, 24, 72, …

Watch Video Solution

2. Find the next terms of the following sequence. 

5, 1, -3, …

Watch Video Solution

3. Find the next terms of the following sequence. 

Watch Video Solution

, , , …
1

4

2

9

3

16

https://dl.doubtnut.com/l/_3x6smTgXoXwL
https://dl.doubtnut.com/l/_tvWUVXlYcqhe
https://dl.doubtnut.com/l/_NRAfC4q0RsLv


4. Find the first four terms of the sequences whose nth terms

are given by 

Watch Video Solution

an = n3 − 2

5. Find the first four terms of the sequences whose  terms

are given by 

Watch Video Solution

nth

an = ( − 1)n+ 1
n(n + 1)

6. Find the first four terms of the sequences whose nth terms

are given by 

an = 2n2 − 6

https://dl.doubtnut.com/l/_NoCukzkwvgww
https://dl.doubtnut.com/l/_7OVOc9BSHPku
https://dl.doubtnut.com/l/_yaos7Vdyz380


Watch Video Solution

7. Find the nth terms of the following sequences 

2, 5, 10, 17, …

Watch Video Solution

8. Find the nth terms of the following sequences 

Watch Video Solution

0, , , …
1

2

2

3

9. Find the nth terms of the following sequences 

Watch Video Solution

3, 8, 13, 18, …

https://dl.doubtnut.com/l/_yaos7Vdyz380
https://dl.doubtnut.com/l/_qtEB7V6e8EkA
https://dl.doubtnut.com/l/_Nx24UWdtvj20
https://dl.doubtnut.com/l/_MF32kXkC37Ra


10. Find the indicated terms of the sequences whose nth terms

are given by 

Watch Video Solution

an = , a6 and a13
5n

n + 2

11. Find the indicated terms of the sequences whose nth terms

are given by 

Watch Video Solution

an = − (n2 − 4), a4 and a11

12. Find the  whose nth term is 

Watch Video Solution

a8 and a15

an =
, n is even,n ∈ N

, n is odd,n ∈ N

n2 − 1

n+ 3

n2

2n+ 1

https://dl.doubtnut.com/l/_urpLm0py3UuC
https://dl.doubtnut.com/l/_4c6VbyuQP1tx
https://dl.doubtnut.com/l/_oxHOUBu1sO5H


Exercise 2 5

13. If ,

then find the first six terms of the sequence.

Watch Video Solution

a1 = 1, a2 = 1 and an = 2an− 1 + an− 2, n ≥ 3, n ∈ N

1. Check whether the following sequences are in A.P. 

Watch Video Solution

a − 3, a − 5, a − 7, …

2. Check whether the following sequences are in A.P. 

, , , , …
1

2

1

3

1

4

1

5

https://dl.doubtnut.com/l/_oxHOUBu1sO5H
https://dl.doubtnut.com/l/_Kgaxh6BwXKHA
https://dl.doubtnut.com/l/_zg4MQWclDI6B
https://dl.doubtnut.com/l/_zui2UrqbyK6H


Watch Video Solution

3. Check whether the following sequences are in A.P. 

Watch Video Solution

9, 13, 17, 21, 25, …

4. Check whether the following sequences are in A.P. 

Watch Video Solution

, 0, , , …
−1

3

1

3

2

3

5. Check whether the following sequences are in A.P. 

Watch Video Solution

1, − 1, 1, − 1, − 1, …

https://dl.doubtnut.com/l/_zui2UrqbyK6H
https://dl.doubtnut.com/l/_JAVvzUQjCLZ0
https://dl.doubtnut.com/l/_iWDRVrTUFtyo
https://dl.doubtnut.com/l/_jQ37v0gbxHwW


6. First term a and common difference d are given below. Find

the corresponding A.P., 

Watch Video Solution

a = 5, d = 6

7. First term a and common difference d are given below. Find

the corresponding A.P., 

Watch Video Solution

a = 7, d = − 5

8. First term a and common difference d are given below. Find

the corresponding A.P., 

https://dl.doubtnut.com/l/_jQ37v0gbxHwW
https://dl.doubtnut.com/l/_5R5ESM5cBaHH
https://dl.doubtnut.com/l/_MioN4ztHgR88
https://dl.doubtnut.com/l/_oQCao9RV5bPi


Watch Video Solution

a = , d =
3

4

1

2

9. Find the first term and common difference of the Arithmetic

Progressions whose nth terms are given below 

Watch Video Solution

tn = − 3 + 2n

10. Find the first term and common difference of the Arithmetic

Progressions whose nth terms are given below 

Watch Video Solution

tn = 4 − 7n

https://dl.doubtnut.com/l/_oQCao9RV5bPi
https://dl.doubtnut.com/l/_KbNgPpii3VMt
https://dl.doubtnut.com/l/_ygjon7tyuxJx


11. Find the 9th term of A.P. 

Watch Video Solution

−11, − 15, − 19, …

12. Which term of an A.P.  is -54?

Watch Video Solution

16, 11, 6, 1, ….

13. Find the middle term(s) of an A.P. 

Watch Video Solution

9, 15, 21, 27, …, 183

14. If nine times ninth term is equal to the fifeen times fifteenth

term, show that six times twenty fourth is zero.

Watch Video Solution

https://dl.doubtnut.com/l/_ZKuEI6NqsKk3
https://dl.doubtnut.com/l/_uE43UzerZoo8
https://dl.doubtnut.com/l/_qdRwsBJw07qp
https://dl.doubtnut.com/l/_IbVrIdhgEPwL


15. If  are in A.P. then find k,

Watch Video Solution

3 + k, 18 − k, 5k + 1

16. Find the x, y, and z, given that the number x, 10, y, 24, z are in

A.P.

Watch Video Solution

17. In a threatre, there are 20 seats in the front row and 30 rows

were alloted. Each successive row contains two additional seats

than its front row. How many seats are there in the last row?

Watch Video Solution

https://dl.doubtnut.com/l/_IbVrIdhgEPwL
https://dl.doubtnut.com/l/_IE1CK4KCqVnV
https://dl.doubtnut.com/l/_XUgQHwu8NWik
https://dl.doubtnut.com/l/_QtpfBt8GcgSM
https://dl.doubtnut.com/l/_VmOK4bks0hs4


18. The sum of the three consecutive terms that are in A.P. is 27

and their product is 288. Find the three terms.

Watch Video Solution

19. The ratio of 6th and 8th term of an A.P. is 7.9. Find the ratio of

9th to 13th term.

Watch Video Solution

20. In a winter season let us take the temperature of Ooty from

Monday to Friday to be in A.P. The sum of temperature from

Monday to Wednesday is  and the sum of the temperature

from Wednesday to Friday is  . Find the temperature on

each of the five days.

W t h Vid S l ti

0∘C

18∘C

https://dl.doubtnut.com/l/_VmOK4bks0hs4
https://dl.doubtnut.com/l/_BcIvFKb7gOt9
https://dl.doubtnut.com/l/_gwJpGITzatSj


Exercise 2 6

Watch Video Solution

21. Priya earned ₹15,000 in the first month. Therefore her salary

inceased by ₹1500 per year. Her expenses are ₹13,000 during the

first year and the expenses inceases by ₹900 per year. How long

will it take for her to save ₹20,000 per month.

Watch Video Solution

1. Find the sum of the following 

 upto to 40 terms.

Watch Video Solution

3, 7, 11, …

https://dl.doubtnut.com/l/_gwJpGITzatSj
https://dl.doubtnut.com/l/_HZrfvqfibWHA
https://dl.doubtnut.com/l/_C1PHuR2v7C8z


2. Find the sum of the following 

 upto to 27 terms.

Watch Video Solution

102, 97, 92, …

3. Find the sum of the following 

Watch Video Solution

6 + 13 + 20 + … + 97

4. How many consecutive odd integers beginning with 5 will

sum to 480?

Watch Video Solution

https://dl.doubtnut.com/l/_tkWJRDHMkgcZ
https://dl.doubtnut.com/l/_upj9smUFmfiF
https://dl.doubtnut.com/l/_HX8zsvDjR83j


5. Find the sum of the first 28 terms of an A.P. whose nth term is

4n-3.

Watch Video Solution

6. The sum of first n terms of a certain series is given as

. Show that the series is an A.P.

Watch Video Solution

2n2 − 3n

7. The 104th term and 4th term of an A.P. are 125 and 0. Find the

sum of first 35 terms.

Watch Video Solution

https://dl.doubtnut.com/l/_lq07xkAbLhr0
https://dl.doubtnut.com/l/_3jLUqj18L8Tf
https://dl.doubtnut.com/l/_HQbGmSjTWpWh


8. Find the sum of all odd integers less than 450.

Watch Video Solution

9. Find the sum of all natural numbers between 602 and 902

which are not divisible by 4.

Watch Video Solution

10. Raghu wish to buy a laptop. He can buy it by paying ₹40,000

cash or by giving it in 10 installments as ₹4800 in the first

month, ₹4750 in the second month, ₹4700 in the third month

and so on. If he pays the money inn this fashion, find 

total amount paid in 10 installments.

Watch Video Solution

https://dl.doubtnut.com/l/_2Ya6vzlsb4CH
https://dl.doubtnut.com/l/_OUSs13a1juG9
https://dl.doubtnut.com/l/_p3kMwA26aQ6I


11. Raghu wish to buy a laptop. He can buy it by paying ₹40,000

cash or by giving it in 10 installments as ₹4800 in the first

month, ₹4750 in the second month, ₹4700 in the third month

and so on. If he pays the money inn this fashion, find 

how much extra amount that he has to pay than the cost?

Watch Video Solution

12. A man repays a loan of ₹65,000 by paying ₹400 in the first

month and then inceasing the payment by ₹300 every month.

How long will it take for him to clear the loan?

Watch Video Solution

https://dl.doubtnut.com/l/_p3kMwA26aQ6I
https://dl.doubtnut.com/l/_Z9ukcJHVC8zC
https://dl.doubtnut.com/l/_mxCyhhoXzjwb


13. A brick staircase has a total of 30 steps. The bottom step

requires 100 bricks. Each successive step requires two bricks less

than the previous step. 

How many bricks are required for the top most step?

Watch Video Solution

14. A brick staircase has a total of 30 steps. The bottom step

requires 100 bricks. Each successive step requires two bricks less

than the previous step. 

How many bricks are required to build the stair case?

Watch Video Solution

https://dl.doubtnut.com/l/_KNN4li0VaAE3
https://dl.doubtnut.com/l/_UFcjnybyrMvi


Exercise 2 7

15. If  are the sums of n terms of m A.P.'s

whose first terms are 1, 2, 4, …, m and whose common

differences are 1, 3, 5, …, (2m-1) repectively, then show that 

Watch Video Solution

S1, S2, S3, …, Sm

S1 + S2 + S3 + … + Sn = mn(mn + 1)
1

2

16. Find the sum

Watch Video Solution

[ + + + … + to 12 terms]
a − b

a + b

3a − 2b

a + b

5a − 3b

a + b

https://dl.doubtnut.com/l/_FGr2rob7N5wo
https://dl.doubtnut.com/l/_7eSABsfJFMOY


1. Which of following sequences are in G.P. 

Watch Video Solution

3, 9, 27, 81, …,

2. Which of following sequences are in G.P. 

Watch Video Solution

4, 44, 444, 4444, …

3. Which of following sequences are in G.P. 

Watch Video Solution

0.5, 0.05, 0.005, …

https://dl.doubtnut.com/l/_MQ9jYOxatWf0
https://dl.doubtnut.com/l/_mbd33kOlhbqR
https://dl.doubtnut.com/l/_VGuCzMjKZ0uz


4. Which of following sequences are in G.P. 

Watch Video Solution

, , , …,
1

3

1

6

1

12

5. Which of following sequences are in G.P. 

Watch Video Solution

1, − 5, 25, − 125, …

6. Which of following sequences are in G.P. 

Watch Video Solution

120, 60, 30, 18, …

https://dl.doubtnut.com/l/_F4RvWCZLjVsZ
https://dl.doubtnut.com/l/_Ksp083lUysgZ
https://dl.doubtnut.com/l/_HOaweXD8HeWH


7. Which of following sequences are in G.P. 

Watch Video Solution

16, 4, 1, , …
1

4

8. Write the first three terms of the G.P. whose first term and the

common ratio are given below. 

Watch Video Solution

a = 6, r = 3

9. Write the first three terms of the G.P. whose first term and the

common ratio are given below. 

Watch Video Solution

a = √2, r = √2

https://dl.doubtnut.com/l/_r95ZqQ1W3W2b
https://dl.doubtnut.com/l/_F38eXqrqXnr7
https://dl.doubtnut.com/l/_PSjmnnqjvtqh


10. Write the first three terms of the G.P. whose first term and

the common ratio are given below. 

Watch Video Solution

a = 1000, r =
2

5

11. In a G.P. 729, 243, 81, … find 

Watch Video Solution

t7

12. Find x so that  are consecutive

terms of Geometric Progressions.

Watch Video Solution

x + 6, x + 12 and x + 15

https://dl.doubtnut.com/l/_PSjmnnqjvtqh
https://dl.doubtnut.com/l/_1vInR4GOT6a0
https://dl.doubtnut.com/l/_wPOgXVaYS9XH
https://dl.doubtnut.com/l/_5Nz99cx1PC7q
https://dl.doubtnut.com/l/_0ZaCIDZgRNhl


13. Find the number of terms in the following G.P. 

Watch Video Solution

4, 8, 16, …, 8192

14. Find the number of terms in the following G.P. 

Watch Video Solution

, , , …,
1

3

1

9

1

27

1

2187

15. In a G.P. the 9th term is 32805 and 6th term is 1215. Find the

12th term.

Watch Video Solution

https://dl.doubtnut.com/l/_0ZaCIDZgRNhl
https://dl.doubtnut.com/l/_dqIS4Qhz17bQ
https://dl.doubtnut.com/l/_lVB7x6wZ2xoG


16. Find the 10th term of G.P. whose 8th term is 768 and the

common ratio is 2.

Watch Video Solution

17. If a, b, c are in A.P. then show that  are in G.P.

Watch Video Solution

3a, 3b, 3c

18. In a G.P. the product of three consecutive term is 27 and the

sum of the product of two terms taken at a time is . Find the

three terms.

Watch Video Solution

57
2

https://dl.doubtnut.com/l/_W5ieZqUg4pBF
https://dl.doubtnut.com/l/_Hm7XwEutiDLU
https://dl.doubtnut.com/l/_OsQ0f3VH7gwj


19. A man joined a company as Assistant Manager. The company

gave him a starting salary of ₹60,000 and agreed to incease his

salary 5% annually. What will be his salary after 5 years.

Watch Video Solution

20. Sivamani is attending an interview for a job and the

company gave two offers to him Offer A: ₹20,000 to start with

followed by a guaranted annual increase of 6% for the first 5

years. 

Offer B: ₹22,000 to start with followed by a guaranteed annual

increase of 3% for the first 5 years. 

what is this salary in the 4th year with respect to the Offer A

and B?

Watch Video Solution

https://dl.doubtnut.com/l/_ehn0Iy2dqYts
https://dl.doubtnut.com/l/_2lcSPpnHV97l


Exercise 2 8

21. If a, b, c are three consecutive terms of an A.P. and x, y, z are

three consecutive terms of a G.P. then prove that

Watch Video Solution

xb− c × yc−a × za− b = 1

1. Find the sum of first n terms of the G.P. 

Watch Video Solution

5, − 3, , − , …
9

5
27
25

2. Find the sum of first n terms of the G.P. 

256, 64, 16, …

https://dl.doubtnut.com/l/_JakBZjJuluq4
https://dl.doubtnut.com/l/_aPUTL8iYe7jc
https://dl.doubtnut.com/l/_kpC884AddpdX


Watch Video Solution

3. Find the sum of first six terms of the G.P. 5, 15, 45, …

Watch Video Solution

4. Find the first term of the G.P. whose common ratio 5 and

whose sum to the 6 terms is 46872.

Watch Video Solution

5. Find the sum of infinity of 

Watch Video Solution

9 + 3 + 1 + …

https://dl.doubtnut.com/l/_kpC884AddpdX
https://dl.doubtnut.com/l/_kTsjZJDAXGJY
https://dl.doubtnut.com/l/_Ejs9MnymbFsi
https://dl.doubtnut.com/l/_fLXk0TqZ8SZQ
https://dl.doubtnut.com/l/_39YOdh0NR1m1


6. Find the sum of infinity of 

Watch Video Solution

21 + 14 + + …
28

3

7. If the first term of an infinite G.P. is 8 and its sum to infinity is

 then find the common ratio.

Watch Video Solution

32

3

8. Find the sum to n terms of the series 

to n terms.

Watch Video Solution

0.4 + 0.44 + 0.444 + …

https://dl.doubtnut.com/l/_39YOdh0NR1m1
https://dl.doubtnut.com/l/_f3NKfMWdCGaw
https://dl.doubtnut.com/l/_TX0pWcIzMIUU


9. Find the sum to n terms of the series 

 to n terms.

Watch Video Solution

3 + 33 + 333 + …

10. Find the sum of the Geometric series .

Watch Video Solution

3 + 6 + 12 + …1536

11. Kumar writes a letter to four of his friends. He asks each one

of them to copy the letter and mail to four different persons

with the instruction that they continue the process similarly.

Assuming that the process is unaltered and it costs ₹2 to mail

one letter, find the amount spent on postage when 8th set of

letters is mailed.

https://dl.doubtnut.com/l/_OWtZEtN0uMPQ
https://dl.doubtnut.com/l/_gF8mbpVygX4q
https://dl.doubtnut.com/l/_eTP3hVIxXEZT


Exercise 2 9

Watch Video Solution

12. Find the rational form of the number .

Watch Video Solution

¯̄¯̄¯̄¯̄¯0.123

13. If

terms then prove that

.

Watch Video Solution

Sn = (x + y) + (x2 + xy + y2) + (x3 + x2y + y2x + y3) + …n

(x − y)Sn = [ − ]
x2(xn − 1)

x − 1

y2yn − 1

y − 1

https://dl.doubtnut.com/l/_eTP3hVIxXEZT
https://dl.doubtnut.com/l/_4e8aGzSTrUiW
https://dl.doubtnut.com/l/_lA89UM3jXVnL


1. Find the sum of the following series 

Watch Video Solution

1 + 2 + 3 + … + 60

2. Find the sum of the following series 

Watch Video Solution

3 + 6 + 9 + … + 96

3. Find the sum of the following series 

Watch Video Solution

51 + 52 + 53 + … + 92

https://dl.doubtnut.com/l/_WbAXbPHVpOQt
https://dl.doubtnut.com/l/_Y1lrqOVhFNUR
https://dl.doubtnut.com/l/_rfMpXx7VmXTQ


4. Find the sum of the following series 

Watch Video Solution

1 + 4 + 9 + 16 + … + 225

5. Find the sum of the following series 

Watch Video Solution

62 + 72 + 82 + … + 212

6. Find the sum of the following series 

Watch Video Solution

103 + 113 + 123 + … + 203

https://dl.doubtnut.com/l/_L7hGzE9DxXcN
https://dl.doubtnut.com/l/_b4rCkDl6p1NR
https://dl.doubtnut.com/l/_3LweKlmgzd07


7. Find the sum of the following series 

Watch Video Solution

1 + 3 + 5 + … + 71

8. If , then find 

.

Watch Video Solution

1 + 2 + 3 + … + k = 325

13 + 23 + 33 + … + k3

9. If  then find 

.

Watch Video Solution

13 + 23 + 33 + … + k3 = 44100

1 + 2 + 3 + … + k

https://dl.doubtnut.com/l/_ExyJ5ie5jvPZ
https://dl.doubtnut.com/l/_EoMy2gRdzUpl
https://dl.doubtnut.com/l/_eyVN2FqFTUX2


10. How many terms of the series  should be

taken to get the sum 14400?

Watch Video Solution

13 + 23 + 33 + …

11. The sum of the squares of the first n natural numbers is 285,

while the sum of their cubes is 2025. Find the values of n.

Watch Video Solution

12. Rakha has 15 square colour papers of sizes 10cm, 11cm, 12cm…

24 cm. How much area can be decorated with these colour

papers?

Watch Video Solution

https://dl.doubtnut.com/l/_sHCHWB8mW3aq
https://dl.doubtnut.com/l/_BxKndScSeLCy
https://dl.doubtnut.com/l/_OxGiQWHpXXA2
https://dl.doubtnut.com/l/_2bjpWTwoCnQe


Exercise 2 10

13. Find the sum of the series

 to 8 terms

Watch Video Solution

(23 − 1) + (43 − 33) + (63 − 153) + …

14. Find the sum of the series

 to 8 terms

Watch Video Solution

(23 − 1) + (43 − 33) + (63 − 153) + …

1. Euclid's division lemma states that for positive integers a and

b, there exist unique integers q and r such that ,

where r must satisfy.

a = bq + r

https://dl.doubtnut.com/l/_2bjpWTwoCnQe
https://dl.doubtnut.com/l/_ONQgOIJpAhvO
https://dl.doubtnut.com/l/_0lgLrtTpRYO9


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1 < r < b

0 < r < b

0 ≤ r < b

0 < r ≤ b

2. Using Euclid's division lemma, if the cube of any positive

integers is divided by 9 then the possible remainders are ___.

A. 

B. 

C. 

0, 1, 8

1, 4, 8

0, 1, 3

https://dl.doubtnut.com/l/_0lgLrtTpRYO9
https://dl.doubtnut.com/l/_gdWSZrwvgOpA


D. 

Answer: A

Watch Video Solution

1, 3, 5

3. If the H.C.F. of 65 and 117 is expressible in the form of

, then the value of m is

A. 4

B. 2

C. 1

D. 3

Answer: B

Watch Video Solution

65m − 117

https://dl.doubtnut.com/l/_gdWSZrwvgOpA
https://dl.doubtnut.com/l/_tMBnuIiqsdnc


4. The sum of the exponents of the prime factors in the prime

factorization of 1729 is :

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

5. The least number that is divisible by all the numbers from 1 to

10 (both inclusive) is

https://dl.doubtnut.com/l/_tMBnuIiqsdnc
https://dl.doubtnut.com/l/_pAt2fT6C3BA5
https://dl.doubtnut.com/l/_rrla3VsAqHGE


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2025

5220

5025

2520

6.  (mod 100)

A. 1

B. 2

C. 3

D. 4

74k =_ _

https://dl.doubtnut.com/l/_rrla3VsAqHGE
https://dl.doubtnut.com/l/_r9OZdQwsXjMD


Answer: A

Watch Video Solution

7. Given  then  is

A. 3

B. 5

C. 8

D. 11

Answer: D

Watch Video Solution

F1 = 1, F2 = 3 and Fn = Fn− 1 + Fn− 2 F5

https://dl.doubtnut.com/l/_r9OZdQwsXjMD
https://dl.doubtnut.com/l/_efBOSf2tD2NV


8. The first term of an arithmetic progressions is unity and the

common difference is 4. Which of the following will be a term of

this A.P.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4551

10091

7881

13531

9. If 6 times of 6th term of an A.P. is equal to 7 times term, then

the 13th term of the A.P. is

https://dl.doubtnut.com/l/_c2EJFSzBYJJj
https://dl.doubtnut.com/l/_F3IBVMlN7Axe


A. 0

B. 6

C. 7

D. 13

Answer: A

Watch Video Solution

10. An A.P. consists of 31 terms. If its 16th terms is m, then the

sum of all the terms of this A.P. is

A. 16m

B. 62 m

C. 31 m

https://dl.doubtnut.com/l/_F3IBVMlN7Axe
https://dl.doubtnut.com/l/_5ubvwSXjmAGA


D.  m

Answer: C

Watch Video Solution

31

2

11. In an A.P., the first terms is 1 and the the common difference

is 4. How many terms of the A.P. must be taken for their sum to

be equal to 120?

A. 6

B. 7

C. 8

D. 9

Answer: C

h id l i

https://dl.doubtnut.com/l/_5ubvwSXjmAGA
https://dl.doubtnut.com/l/_cbl9sxGik1EH


Watch Video Solution

12. If  which of

the following is true?

A.  more than A

B. A and B are equal

C. B is larger than A by 1

D. A is larger than B by 1

Answer: D

Watch Video Solution

A = 265 and B = 264 + 263 + 262 + … + 20

B  is 264

13. The next term of the sequences , , , , …
3

16

1

8

1

12

1

18

https://dl.doubtnut.com/l/_cbl9sxGik1EH
https://dl.doubtnut.com/l/_upA0Y6zh77KU
https://dl.doubtnut.com/l/_2GW0Vod2u6zc


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1

24

1

27

2

3

1

81

14. If the sequence  are in A.P. then the sequence 

 is

A. a Geometric Progression

B. an Arithmetic Progression

t1, t2, t3, …

t6, t12, t18, …

https://dl.doubtnut.com/l/_2GW0Vod2u6zc
https://dl.doubtnut.com/l/_7NPOMOx0TV0b


C. neither an Arithmetic Progression nor a Geometric

Progression

D. a constant sequence

Answer: B

Watch Video Solution

15. The value of

 is

A. 

B. 

C. 

D. 

(13 + 23 + 33 + … + 153) − (1 + 2 + 3 + … + 15)

14400

14200

14280

14520

https://dl.doubtnut.com/l/_7NPOMOx0TV0b
https://dl.doubtnut.com/l/_vWBcQBc86jUb


Unit Exercise

Answer: C

Watch Video Solution

1. Prove that  divisible by 2 for every positive integer n.

Watch Video Solution

n2 − n

2. A milk man has 175 litres of cow's milk and 105 litres of

buffalow's milk. He wishes to sell the milk by filling the two type

of milk is cans of equal capacity. Calculate the following 

Capacity of a can.

Watch Video Solution

https://dl.doubtnut.com/l/_vWBcQBc86jUb
https://dl.doubtnut.com/l/_aIK3oH50TgiI
https://dl.doubtnut.com/l/_D8SgCGHnzvwV


3. A milk man has 175 litres of cow's milk and 105 litres of

buffalow's milk. He wishes to sell the milk by filling the two type

of milk is cans of equal capacity. Calculate the following 

Number of cans of cow's milk.

Watch Video Solution

4. A milk man has 175 litres of cow's milk and 105 litres of

buffalow's milk. He wishes to sell the milk by filling the two type

of milk is cans of equal capacity. Calculate the following 

Number of cans of buffalow's milk.

Watch Video Solution

https://dl.doubtnut.com/l/_q59pWvTZ1o10
https://dl.doubtnut.com/l/_lzZ7l65Ky1hY


5. When the positive integer a, b, c and are divided by 13 the

respective remainders are 9, 7 and 10. Find the remainder when

 is divided by 13.

Watch Video Solution

a + 2b + 3c

6. Show that 107 is of the form 4q+3 for any integer q.

Watch Video Solution

7. If (m+1)th term of an A.P. is twice the (n+1)th term, then prove

that (3m+1)th term is twice the (m+n+1)th term

Watch Video Solution

https://dl.doubtnut.com/l/_OGQAjoQAvNMD
https://dl.doubtnut.com/l/_kpMxFp5tlJC2
https://dl.doubtnut.com/l/_vIc54Xa5QWyB


8. Find the 12th term from the last term of the

.

Watch Video Solution

A. P . − 2, − 4, − 6, …, − 100

9. Two A.P.'s have the same common difference. The first term of

one A.P. is 2 and that of the other is 7. Show that the difference

between their 10th terms is the same as the difference between

their 21th terms, which is the same as the difference between

any two corresponding terms.

Watch Video Solution

10. A man saved ₹16500 in ten years. In each year after the first

he saved ₹100 more than he did in the preceeding year. How

https://dl.doubtnut.com/l/_Kz6JUSzLnp0u
https://dl.doubtnut.com/l/_C9MPcYcjNOki
https://dl.doubtnut.com/l/_7BP72R2KQAAe


Thinking Corner

much did he save in the first year?

Watch Video Solution

11. Find the G.P. in which the 2nd term is  and the 6th term is

?

Watch Video Solution

√6

9√6

12. The value of a motor cycle depreciates at the rate of 15% per

year. What will be the value of the motor cycle 3 year hence,

which is now purchased for ₹45,000?

Watch Video Solution

https://dl.doubtnut.com/l/_7BP72R2KQAAe
https://dl.doubtnut.com/l/_v7vv3DTjecKS
https://dl.doubtnut.com/l/_9RZLJJMmnc9Y


1. When a positive integer is divided by 3 

What are the possible remainders?

Watch Video Solution

2. When a positive integer is divided by 3 

In which form can it be written ?

Watch Video Solution

3. Is 1 a prime number ?

Watch Video Solution

4. Can you think of positive integers a, b such that  ?ab = ba

https://dl.doubtnut.com/l/_gPbqeT6HGtIG
https://dl.doubtnut.com/l/_70hHwit0Yx6N
https://dl.doubtnut.com/l/_V2jtaBbKf4mZ
https://dl.doubtnut.com/l/_taypZ8CGiXL1


Watch Video Solution

5. How many integers exist which leave a remainder of 2 when

divided by 3 ?

Watch Video Solution

6. If  term of an A.P. then the value of 

is ……

Watch Video Solution

tn  is the nth tn+ 1 − tn− 1

7. The value of n must be positive . Why ?

Watch Video Solution

https://dl.doubtnut.com/l/_taypZ8CGiXL1
https://dl.doubtnut.com/l/_mG2VOSWZPdEf
https://dl.doubtnut.com/l/_wB1BkUt9JXVN
https://dl.doubtnut.com/l/_0nGbtYELhuZI
https://dl.doubtnut.com/l/_6zjtg1jQknc5


8. What is the sum of first n odd natural numbers ?

Watch Video Solution

9. What is the sum of first n even natural numbers ?

Watch Video Solution

10. Is the sequence is a G.P. ?

Watch Video Solution

2, 22222

2222

, .......

11. Split 64 into three parts such that the numbers are in G.P.

Watch Video Solution

https://dl.doubtnut.com/l/_6zjtg1jQknc5
https://dl.doubtnut.com/l/_4TZpz9QsKPjc
https://dl.doubtnut.com/l/_9wOuVc2ahKbl
https://dl.doubtnut.com/l/_9oAyKOTByDb9
https://dl.doubtnut.com/l/_4fbxuQYeJgW4


Progress Check

12. If a , b, c, … are in G.P. then  are in ….

Watch Video Solution

2a, 2b, 2c, …

13. If  are in G.P. then x is ___.

Watch Video Solution

3, x, 6, 7.5

1. Find q and r for the following pairs of integers a and b

satisfying . 


Watch Video Solution

a = bq + r

a = 13, b = 3

https://dl.doubtnut.com/l/_4fbxuQYeJgW4
https://dl.doubtnut.com/l/_UkiOLpbuERiV
https://dl.doubtnut.com/l/_mBCtItE8TNtY
https://dl.doubtnut.com/l/_ncw754WNaoBF


2. Find q and r for the following pairs of integers a and b

satisfying . 


Watch Video Solution

a = bq + r

a = 18, b = 4

3. Find q and r for the following pairs of integers a and b

satisfying . 


Watch Video Solution

a = bq + r

a = 21, b = − 4

4. Find q and r for the following pairs of integers a and b

satisfying . 


W h Vid S l i

a = bq + r

a = − 32, b = − 12

https://dl.doubtnut.com/l/_ncw754WNaoBF
https://dl.doubtnut.com/l/_EzDl78IxKgFs
https://dl.doubtnut.com/l/_AlmDOfPaEZZe


Watch Video Solution

5. Find q and r for the following pairs of integers a and b

satisfying . 


Watch Video Solution

a = bq + r

a = − 31, b = 7

6. Euclid's division algorithm is a repeated application of

division lemma until we get remainder as :

Watch Video Solution

7. The H.C.F of two equal positive integers k, k is :

Watch Video Solution

https://dl.doubtnut.com/l/_AlmDOfPaEZZe
https://dl.doubtnut.com/l/_pzPaQGSG0VPC
https://dl.doubtnut.com/l/_yHXq2qTkROVb
https://dl.doubtnut.com/l/_ZejEPZwsC1gj


8. Every natural number except …… can be expressed as ……..

Watch Video Solution

9. In how many ways a composite number can be written as

product of power of primes ?

Watch Video Solution

10. The number of divisors of any prime number is …….

Watch Video Solution

11. Let m divides n . Then G.C.D and L.C.M. of m,n are …… and …….

Watch Video Solution

https://dl.doubtnut.com/l/_s6bxtR92i3k1
https://dl.doubtnut.com/l/_22QVT61F0lxx
https://dl.doubtnut.com/l/_VR34dBrgOD21
https://dl.doubtnut.com/l/_7Pch6hcvGCGa


12. The HCF of numbers of the form  is ____.

Watch Video Solution

2m and 3n

13. Two integers a and b are congruent modulo n if ………

Watch Video Solution

14. The set of all positive integers which leave remainder 5 when

divided by 7 are ……….

Watch Video Solution

15. The positive values of k such that  (mod 11) are ….(k − 3) ≡ 5

https://dl.doubtnut.com/l/_7Pch6hcvGCGa
https://dl.doubtnut.com/l/_gH1gn7hCZeXP
https://dl.doubtnut.com/l/_b9XI8L4XiUDn
https://dl.doubtnut.com/l/_qWFnWeUX1D9w
https://dl.doubtnut.com/l/_IWsgJDLzXOp5


Watch Video Solution

16. If  (mod 7) ,  (mod 7) then  …. (mod 7 ), 

 (mod 7) ,  (mod 7) ,  (mod 7).

Watch Video Solution

59 ≡ 3 46 ≡ 4 105 ≡

13 ≡ …. 413 ≡ …… 368 ≡ …. .

17. The remainder when  is divided by 6 is

….

Watch Video Solution

7 × 13 × 19 × 23 × 31

18. Fill in the blanks for the following sequences 

…

Watch Video Solution

7, 13, 19,

https://dl.doubtnut.com/l/_IWsgJDLzXOp5
https://dl.doubtnut.com/l/_YfwIYtF4QD5A
https://dl.doubtnut.com/l/_uuQXwCe7XGVl
https://dl.doubtnut.com/l/_RYweHZaQ85mp


19. Fill in the blanks for the following sequences 

……

Watch Video Solution

2, …. , 10, 17, 26, .

20. Fill in the blanks for the following sequences 

…..,……

Watch Video Solution

1000, 100, 10, 1,

21. A sequence is a function defined on the set of___.

Watch Video Solution

https://dl.doubtnut.com/l/_RYweHZaQ85mp
https://dl.doubtnut.com/l/_E1T46EYJcrRr
https://dl.doubtnut.com/l/_aB2OoeajW817
https://dl.doubtnut.com/l/_id825CngPZ00


22. The  term of the sequence ….. Can be

expressed as …..

Watch Video Solution

nth 0, 2, 6, 12, 20,

23. Say True or False 

All sequences are functions .

Watch Video Solution

24. Say True or False 

All functions are sequences.

Watch Video Solution

https://dl.doubtnut.com/l/_RffgtCuYk9Dv
https://dl.doubtnut.com/l/_QkWlSuQ416fH
https://dl.doubtnut.com/l/_aDGVwY66NyGm


25. The difference between any two consecutive terms of an A.P.

is ….

Watch Video Solution

26. If a and d are the first term and common difference of an A.P.

then the  term is …..

Watch Video Solution

8th

27. If  term of an A.P., then  is …..

Watch Video Solution

tn  is  the nth t2n − tn

28. The common difference of a constant A.P. is ……

https://dl.doubtnut.com/l/_x9I5IYX7jbmE
https://dl.doubtnut.com/l/_QS3WH8UolPI3
https://dl.doubtnut.com/l/_B8bK8Fr7c99y
https://dl.doubtnut.com/l/_VQZtuo1p6uXP


Watch Video Solution

29. If a and l are first and last terms of an A.P. then the number

of terms is ….

Watch Video Solution

30. If every term of an A.P. is multiplied by 3, then the common

difference of the new A.P. is …..

Watch Video Solution

31. Three numbers a, b and c will be in A.P. if and only if ____.

Watch Video Solution

https://dl.doubtnut.com/l/_VQZtuo1p6uXP
https://dl.doubtnut.com/l/_BeDL7VrzUMEA
https://dl.doubtnut.com/l/_RSH3YXMjf9LW
https://dl.doubtnut.com/l/_F6z6CPOwN9aT
https://dl.doubtnut.com/l/_CXHPJzy1X9D6


32. The sum of terms of a sequence is called ……

Watch Video Solution

33. A series have finite number of terms then it is called ……

Watch Video Solution

34. A series whose terms are in …… is called Arithmetic series.

Watch Video Solution

35. If the first and last terms of an A.P. are given, then the

formula to find the sum is …….

Watch Video Solution

https://dl.doubtnut.com/l/_CXHPJzy1X9D6
https://dl.doubtnut.com/l/_CzcnzWDXU6zc
https://dl.doubtnut.com/l/_EdQrxZcBsRMH
https://dl.doubtnut.com/l/_99eHMcmhAl7O


36. A G.P. is obtained by multiplying ……… to the preceding term.

Watch Video Solution

37. The ratio between any two consecutive terms of the G.P. is ……

and it is called ……

Watch Video Solution

38. Fill in the blanks, if the term are in G.P. 

Watch Video Solution

, , , …
1

8

3

4

9

2

https://dl.doubtnut.com/l/_99eHMcmhAl7O
https://dl.doubtnut.com/l/_iNy6Joe8MFM5
https://dl.doubtnut.com/l/_p0F0VGjCchJv
https://dl.doubtnut.com/l/_MyUrY3sVpNRR


39. Fill in the blanks if the following are in G.P. 

,……

Watch Video Solution

7,
7
2

40. Fill in the blanks if the following are in G.P. 

…….

Watch Video Solution

……. , 2√2, 4,

41. If first term = a, common ratio = r, then find the value of

.

Watch Video Solution

t9  and t27

https://dl.doubtnut.com/l/_vkS6oAVMU3C4
https://dl.doubtnut.com/l/_hiAQb9mbCTdr
https://dl.doubtnut.com/l/_3UbFujOBNY7H


42. If G.P if  then the common ratio is ___.

Watch Video Solution

t1 = and t2 =
1

5

1

25

43. Three Non-zero numbers a, b and c will be in G.P. If and only

if ____.

Watch Video Solution

44. A series whose terms are in Geometric progression is called

…….

Watch Video Solution

https://dl.doubtnut.com/l/_uCslB2Bh7QmJ
https://dl.doubtnut.com/l/_deloPY0bWjrU
https://dl.doubtnut.com/l/_At5699yHLa9w


45. When , the formula for finding sum to n terms of a G.P.

is …….

Watch Video Solution

r = 1

46. When , the formula for finding sum to n terms of a G.P.

is ……..

Watch Video Solution

r ≠ 1

47. Sum to infinite number of terms of a G.P. is ….

Watch Video Solution

48. For what values of r, does the formula for infinite G.P. valid ?

https://dl.doubtnut.com/l/_OhWvdsXOxfLq
https://dl.doubtnut.com/l/_1X9TB14oNp7S
https://dl.doubtnut.com/l/_sK3MaJ9HWwR9
https://dl.doubtnut.com/l/_qxoCOZxUwSFv


Watch Video Solution

49. Is the series ….a Geometric series ?

Watch Video Solution

3 + 33 + 333 +

50. The value of r, such that  is …

Watch Video Solution

1 + r + r2 + r3… =
3

4

51. The sum of cubes of first n natural numbers is ……..of the first

n natural numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_qxoCOZxUwSFv
https://dl.doubtnut.com/l/_qG8Pi5Dn3FtJ
https://dl.doubtnut.com/l/_UU8GvayCBZAZ
https://dl.doubtnut.com/l/_DNvcK9E8vBqj


52. The average of first 100 natural number is ___.

Watch Video Solution

53. The sum of first n odd natural numbers is always an odd

number.

Watch Video Solution

54. The sum of consecutive even numbers is always an even

number.

Watch Video Solution

https://dl.doubtnut.com/l/_3TfBoOKuyO6l
https://dl.doubtnut.com/l/_4t5uqkoiMWIq
https://dl.doubtnut.com/l/_Z6IAnRx7pgnW


Activities

55. The difference between the sum of squares of first n natural

numbers and the sum of first n natural numbers is always

divisible by 2.

Watch Video Solution

56. The sum of cubes of the first n natural numbers is always a

square number.

Watch Video Solution

1. This activity helps you to find H.C.F. of two positive numbers.

We first observe the following instructions. 

https://dl.doubtnut.com/l/_R9lfO1yxNZRS
https://dl.doubtnut.com/l/_mRPqjg8u8H53
https://dl.doubtnut.com/l/_xJjltu9Ymugh


Construct a rectangle whose length and breadth are the given

numbers.

Watch Video Solution

2. This activity helps you to find H.C.F. of two positive numbers.

We first observe the following instructions. 

Fill the H.C.F of (a) 12, 20 (b) 16,24 (c ) 11, 9.

Watch Video Solution

3. This activity to determine H.C.F. of two given positive integers.

(i) From the given numbers, subtract the smaller from the larger

number. 

(ii) From the remaining numbers, subtract smaller from the

larger. 

https://dl.doubtnut.com/l/_xJjltu9Ymugh
https://dl.doubtnut.com/l/_4VQ87Bk29AHG
https://dl.doubtnut.com/l/_wWUbmuml3kCr


(iii) Repeat the subtraction process by subtracting smaller from

the larger. 

(iv) Stop the process, when the numbers become equal. 

(v) The number representing equal numbers obtained in step

(iv), will be the H.C.F. of the given numbers. 

Using the Activity , find the HCF of 

Watch Video Solution

90, 15

4. This activity to determine H.C.F. of two given positive integers.

(i) From the given numbers, subtract the smaller from the larger

number. 

(ii) From the remaining numbers, subtract smaller from the

larger. 

(iii) Repeat the subtraction process by subtracting smaller from

the larger. 

https://dl.doubtnut.com/l/_wWUbmuml3kCr
https://dl.doubtnut.com/l/_oYLJi7F2AORK


(iv) Stop the process, when the numbers become equal. 

(v) The number representing equal numbers obtained in step

(iv), will be the H.C.F. of the given numbers. 

Using the Activity , find the HCF of 

Watch Video Solution

80, 25

5. This activity to determine H.C.F. of two given positive integers.

(i) From the given numbers, subtract the smaller from the larger

number. 

(ii) From the remaining numbers, subtract smaller from the

larger. 

(iii) Repeat the subtraction process by subtracting smaller from

the larger. 

(iv) Stop the process, when the numbers become equal. 

(v) The number representing equal numbers obtained in step

https://dl.doubtnut.com/l/_oYLJi7F2AORK
https://dl.doubtnut.com/l/_cMPMtrgZAhxw


(iv), will be the H.C.F. of the given numbers. 

Using the Activity , find the HCF of 

Watch Video Solution

40, 16

6. This activity to determine H.C.F. of two given positive integers.

(i) From the given numbers, subtract the smaller from the larger

number. 

(ii) From the remaining numbers, subtract smaller from the

larger. 

(iii) Repeat the subtraction process by subtracting smaller from

the larger. 

(iv) Stop the process, when the numbers become equal. 

(v) The number representing equal numbers obtained in step

(iv), will be the H.C.F. of the given numbers. 

https://dl.doubtnut.com/l/_cMPMtrgZAhxw
https://dl.doubtnut.com/l/_9G9XQZrr3oXR


Using the Activity , find the HCF of 

Watch Video Solution

23, 12

7. This activity to determine H.C.F. of two given positive integers. 

(i) From the given numbers, subtract the smaller from the larger

number. 

(ii) From the remaining numbers, subtract smaller from the

larger. 

(iii) Repeat the subtraction process by subtracting smaller from

the larger. 

(iv) Stop the process, when the numbers become equal. 

(v) The number representing equal numbers obtained in step

(iv), will be the H.C.F. of the given numbers. 

Using the Activity , find the HCF of 

93, 13

https://dl.doubtnut.com/l/_9G9XQZrr3oXR
https://dl.doubtnut.com/l/_nDmzdbfJQpmV


Other Important Objective Type Questions

Watch Video Solution

8. Can you find the 4- digit pin number 'pqrs' of an ATM card

such that  ?

Watch Video Solution

p2 × q1 × r4 × s3 = 3, 15, 000

9. There are five boxes here. You have to pick one number from

each box and form five Arithmetic Progressions. 

Watch Video Solution

https://dl.doubtnut.com/l/_nDmzdbfJQpmV
https://dl.doubtnut.com/l/_imG1MnyFxvUf
https://dl.doubtnut.com/l/_spJluS0NFVlL


1. The quotient and remainder when 19 is divided by  are :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−3

(6, 1)

(6, − 1)

( − 6, − 1)

( − 6, 1)

2. The square of an odd integer is of the form  where r is :

A. 2

B. 

4q + r

−1

https://dl.doubtnut.com/l/_SW7J2j8vF4AY
https://dl.doubtnut.com/l/_Tg33D51Smbu9


C. 1

D. 0

Answer: C

Watch Video Solution

3. Find the greatest number that will divide 445 and 572 leaving

remainders 4 and 5 respectively.

A. 62

B. 61

C. 63

D. 68

Answer: C

https://dl.doubtnut.com/l/_Tg33D51Smbu9
https://dl.doubtnut.com/l/_qjAXa2IJ6IZr


Watch Video Solution

4. Use Euclid Division Algorithm to find the Highest Common

Factor (H.C.F) of 

867 and 255

A. 57

B. 61

C. 71

D. 81

Answer: A

Watch Video Solution

5. Find a and b such that ab × ba = 5184

https://dl.doubtnut.com/l/_qjAXa2IJ6IZr
https://dl.doubtnut.com/l/_2e0dELLVEPYy
https://dl.doubtnut.com/l/_kBgSdBIYJ8Mu


A. 3 and 4

B. 3 and 6

C. 2 and 6

D. None of these

Answer: A

Watch Video Solution

6. We say that n is congruent to r modulo m if :

A. 

B. 

C. 

D. 

m = nq + r

n = mq + r

m = nq

n + r = mq

https://dl.doubtnut.com/l/_kBgSdBIYJ8Mu
https://dl.doubtnut.com/l/_udQpah7GtApW


Answer: B

Watch Video Solution

7. If  (mod 7) ,  (mod 7) then  …. (mod 7 ), 

 (mod 7) ,  (mod 7) ,  (mod 7).

A. 0

B. 4

C. 3

D. 12

Answer: A

Watch Video Solution

59 ≡ 3 46 ≡ 4 105 ≡

13 ≡ …. 413 ≡ …… 368 ≡ …. .

https://dl.doubtnut.com/l/_udQpah7GtApW
https://dl.doubtnut.com/l/_bRElo0m1KMyw


8. The remainder when  is divided

by 6 is :

A. 3

B. 

C. 0

D. 1

Answer: D

Watch Video Solution

7 × 13 × 19 × 23 × 29 × 31

−1

9. Find the least positive value of x such that 

(mod 5).

A. 1

197 ≡ (x + 3)

https://dl.doubtnut.com/l/_lZqAZhcVbtEO
https://dl.doubtnut.com/l/_n2TYagtjMqjj


B. 2

C. 4

D. 3

Answer: C

Watch Video Solution

10. Find x if  (mod 23)

A. 18

B. 15

C. 21

D. 17

Answer: A

104 ≡ x

https://dl.doubtnut.com/l/_n2TYagtjMqjj
https://dl.doubtnut.com/l/_vmzbjYOJQ3rr


Watch Video Solution

11. What is the time 100 hours after 6 am ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2pm

8am

9am

10am

12. The  term of the sequence  … is

A. 

nth 4, 7, 12, 19,

2n + 3

https://dl.doubtnut.com/l/_vmzbjYOJQ3rr
https://dl.doubtnut.com/l/_RkYrUIojj3be
https://dl.doubtnut.com/l/_4Jq5pIzZ1usE


B. 

C. 

D. None of these

Answer: B

Watch Video Solution

n2 + 3

n3 − 1

13. In an A.P. with first term 'a' and common difference 'd'

 is : (where  term )

A. nd

B. d

C.  d

D. 

t2n − tn tn  is the nth

(2n − 1)

(n − 1)

a + nd

https://dl.doubtnut.com/l/_4Jq5pIzZ1usE
https://dl.doubtnut.com/l/_riBE3JSeOTbl


Answer: A

Watch Video Solution

14. If an A.P. has its second term as 15, third term as 27 its fifth

term is :

A. 47

B. 71

C. 51

D. 61

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_riBE3JSeOTbl
https://dl.doubtnut.com/l/_LyxG4kVGXJpM


15. No. of terms is the A.P.  is :

A. 36

B. 37

C. 38

D. 39

Answer: B

Watch Video Solution

2, 5, 8, 11, …. .110

16. In the A.P. , find the middle term :

A. 23

B. 13

3, 5, 7, …43

https://dl.doubtnut.com/l/_ZaMZiMtr5yYR
https://dl.doubtnut.com/l/_ofU2U2U9yWDI


C. 33

D. 26

Answer: A

Watch Video Solution

17. If  are in A.P. , then k is ,

A. 6

B. 3

C. 4

D. 5

Answer: C

Watch Video Solution

7 + k, 22 − k  and 5k + 5

https://dl.doubtnut.com/l/_ofU2U2U9yWDI
https://dl.doubtnut.com/l/_sn6pqSk0t4Na


18. What is the sum of first n natural numbers ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2n2

2n2 + 1

n2 + 1

n(n + 1)

2

19. If the  term of a G.P. is  find first

term.

A. 

3rd  and 6th  term is 
4
3

32

81

3

2

https://dl.doubtnut.com/l/_sn6pqSk0t4Na
https://dl.doubtnut.com/l/_0ccOjlqucHJO
https://dl.doubtnut.com/l/_DlXQIffRtaQY


B. 

C. 2

D. 3

Answer: D

Watch Video Solution

2

3

20. An A.P. has 21 terms. If its  term is 25, sum of all the term

is :

A. 525

B. 550

C. 575

D. 625

11th

https://dl.doubtnut.com/l/_DlXQIffRtaQY
https://dl.doubtnut.com/l/_Q5f4GWw7PmB1


Answer: A

Watch Video Solution

21. Find the no. of terms in the G.P. .

A. 8

B. 7

C. 6

D. 5

Answer: A

Watch Video Solution

4, 8, 16, ….512

22. Find x if  are in G.P:4, x, 9

https://dl.doubtnut.com/l/_Q5f4GWw7PmB1
https://dl.doubtnut.com/l/_woEgR5Xlji1E
https://dl.doubtnut.com/l/_u1T9OQBuhoGA


A. 2

B. 7

C. 3

D. 6

Answer: D

Watch Video Solution

23. Find the sum .

A. 

B. 

C. 

D. 

4 + 1 + + ….  to ∞
1

4

5
1

4

16

3

15

3

3

16

https://dl.doubtnut.com/l/_u1T9OQBuhoGA
https://dl.doubtnut.com/l/_0bxIPbT4zkFR


Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_0bxIPbT4zkFR

